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1) Να υπολογιστούν τα όρια:    

   i) 𝑙𝑖𝑚
𝑥→−1

𝑥+1

√𝑥2+8+3𝑥
             ii) 𝑙𝑖𝑚

𝑥→−1

3𝑥2+5𝑥+2

𝑥3−𝑥
           iii) 𝑙𝑖𝑚

𝑥→0

1−√1+𝑥4

4𝑥4
        

   iv)  𝑙𝑖𝑚
𝑥→2

𝑥2−2𝑥

2−√3𝑥−2
                   v) lim

𝑥→1

√3𝑥+1−2

3𝑥−3
              vi)  lim

𝑥→2

3𝑥2−5𝑥−2

𝑥2−4
 

   vii) lim
𝑥→1

2𝑥2+𝑥−3

5𝑥−5
             ix) lim

𝑥→−2

2𝑥2+𝑥−6

𝑥+2
 

2) Να βρεθούν οι παράγωγοι των συναρτήσεων:   

i) 𝑓(𝑥) =
𝑥3−2𝑥

𝑒𝑥
 

ii) 𝑓(𝑥) = 𝑥2 ∙ ln(𝑥) +
2

𝑥
 

iii) 𝑓(𝑥) = √𝑥4 − 9𝑥3 + 2  

iv) 𝑓(𝑥) = (𝑥2 − 4 ∙ 𝑥 + 3)5 

v) 𝑓(𝑥) =
2𝑥2

𝑙𝑛𝑥
 

vi) 𝑓(𝑥) = 𝑥 ∙ 𝜎𝜐𝜈𝑥 +
5

𝑥
 

vii) 𝑓(𝑥) = 𝑙𝑛(𝑥3 + 3𝑥2) 

viii) 𝑓(𝑥) = 9𝑥5−2𝑥4+10 

ix) 𝑓(𝑥) =
𝑥3

𝑙𝑛𝑥
+ 𝑒𝑥𝑥 

x) 𝑓(𝑥) = 𝑙𝑛(2𝑥4 + 𝑥2 + 5) 

xi) 𝑓(𝑥) = (𝑥2 − 6 ∙ 𝑥 + 5)3 

xii) 𝑓(𝑥) = 𝑐𝑜𝑠3(𝑥) 

xiii) 𝑓(𝑥) = 4𝑥2−1 


